	Corso matematica  
	Data:
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	Espressioni in Z


	
	Soluzioni

	[image: image2.png]3-[4-(3-5-4-5)-2]+(-4) =
~4+[3-(2-5-6-3)-2]-(-4) =
(-6+4)° - {8-(12—4):[-8—(-5+1)]} =
(-15+5)* - {6-(11-5):[-7- (-9+9)]} =
20> ~10-[47 (-2)-3%:9] =
[—7-5+15-22]2:[15+4-(—5)]2=
{— 44:[3% (4)? - 22 -52]} 22 :‘(—2)3] -
68— (177 (4)’]: (-17-4) +5* -(-2) =
[5-3-22~162:(4)2]:[(—3)2+2] =

{_[23 :(_2)2] - (—2)4} : [— 22-5+11] -




[image: image3.png]{[-13 —(=2)-(+5)] - [(-101)+ (-23)- (-4)]} -
{-3-4-5-(-2)} - [-7-333:(-3)] =
{97-[97- (-7 2]} - [-2* + (3] =

{[—52 (=4) =23 -52]~8-(—5)3}—[-82 -5%]=
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